1a. True or false? This board is less than
1m fall.
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2a. Choose the correct word to complete
the statement.

The school window is [ ]

than 1 metre and 20 centimetres.

| tonger | [ shorter |
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3a. Circle the measurement that is the

best estimate for the height of an
elephant. N
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1b. Use the digit cards fo estimate a
suitable length for these objects.

frain 10 /m and 0 |lcm

go-kart m and| 1 0 |[cm
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2b. Hasan has been sorling objects into
the chart below.

Measure in Measure in
mefres cenfimetres
giraffe apple
1 bird

o @

Has he sorted them correctly? Explain
your answer.
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4a. Match the object fo the estimated
length.
S

fishing net 27 lam 90em
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3b. Anna is measuring objects. She says,
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im 2m 3m

o
| think the snake is 2m
and 90cm.

Is she correct? Explain your answer




5a. True or false? This ladder is less than
1m long.
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é6a. Choose the correct word to complete
the statement.

The classroom door is
than 3 metres and 55 centimetres.

longer ’ ‘ shorter
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4b. Use the digit cards fo estimate a
suitable length for these objects.

coach mand| ¢ cm
surf
board 1 |m and cm
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7a. Circle the measurement that is the
best estimate for the height of a giraffe.
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5b. Julia has been sorting objects into the
chart below.

Measure in Measure in
mefres cenfimetres
% cucumber ',".’[
L)
meerkat
=3 ¥
streot .
light oy
Has she sorted them correctly? Explain
your answer.
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8a. Match the object fo the estimated
length.
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6b. Simon is measuring objects. He says,
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Ocm 50cm m

Im 50cm
T Ithink the snake is Tm
- and 35¢cm.

Is he correct? Explain your answer
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9a. True or false? This tree is less than Tm

tall. s

213cm
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10a. Choose the correct word to
complete the statement.

The school tables are [

7b. Use the digit cards fo estimate a
suitable length for these objects.

lorry cm

mand cm
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than 104 centimetres.
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11a. Circle the measurement that is the
best estimate for the height of a lion.
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+ 51cm

1m 24cm

8b. Stefan has been sorting objects into
the chart below.

Measure in Measure in
mefres cenfimetres
wheelbamrow
T | T

SP?do u 8«!;? {k

Has he sorted them correctly? Explain
your answer.
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v 197cm
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12a. Match the object to the estimated
length.

racket ‘:-—- 172cm
4
bike (V) 2m 96cm
swings | 5 .[ \ 73cm
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9b. Leila is measuring objects. She says,
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ImScm 3m 4m 50cm
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w Al: | think the snake is ]

324cm.

Is she correct? Explain your answer
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